
MATHS

BOOKS - MBD

Constructions

Exersice

1. Construct an angle of  at the initial point

of a given ray and justify the construction.

Watch Video Solution

45∘

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_F1bwAemHyd3n


2. Construct the angles of the following

measurement .

Watch Video Solution

30∘

3. Construct the angles of the following

measurement  .

Watch Video Solution

22
1∘

2

https://dl.doubtnut.com/l/_F1bwAemHyd3n
https://dl.doubtnut.com/l/_jDTDBkqZssta
https://dl.doubtnut.com/l/_7thlLkzsQ8az


4. Construct the angles of the following

measurement .

Watch Video Solution

15∘

5. Construct an equilateral triangle, given its

side and justify the construction.

Watch Video Solution

https://dl.doubtnut.com/l/_D8Lvx12ZXjE7
https://dl.doubtnut.com/l/_2rnJi15Nz2dz


6. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

120∘

7. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

150∘

https://dl.doubtnut.com/l/_l4X1ipLzfPvr
https://dl.doubtnut.com/l/_wkPeyvcxJIFD
https://dl.doubtnut.com/l/_zgGFgSAyuMtY


8. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

165∘

9. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

37
1∘

2

https://dl.doubtnut.com/l/_zgGFgSAyuMtY
https://dl.doubtnut.com/l/_kdd7qxvwtSCD
https://dl.doubtnut.com/l/_LzdY5py7LX0A


10. Using ruler and compasses, construct the

following angles and justify your construction

: 

Watch Video Solution

67
1∘

2

11. Construct a triangle ABC in which BC = 7cm,

 and .

Watch Video Solution

∠B = 75∘ AB + AC = 13cm

https://dl.doubtnut.com/l/_LzdY5py7LX0A
https://dl.doubtnut.com/l/_160XnbLL6gee


12. Construct a triangle ABC in which

,  and 

.

Watch Video Solution

BC = 8cm ∠B = 45∘

AB − AC = 3.5cm

13. Construct a triangle PQR in which

angleQ = 60^@ PR - PQ = 2

cm.

Watch Video Solution

QR = 6cm, and

https://dl.doubtnut.com/l/_OK67dBuYomgB
https://dl.doubtnut.com/l/_VnI1NxCvOiAs
https://dl.doubtnut.com/l/_9VY2FwAMiGAs


14. Construct a triangle XYZ in which

,  and 

.

Watch Video Solution

∠Y = 30∘ ∠Z = 90∘

XY + Y Z + ZX = 11cm

15. Construct a right triangle whose base is 12

cm and sum of its hypotenuse and other side

is 18 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_9VY2FwAMiGAs
https://dl.doubtnut.com/l/_nskUrFaDagpf
https://dl.doubtnut.com/l/_BLIKUbfyW54v


16. Construct a triangle having given the base

equal to 5 cm., sum of two sides equal to 7.7

cm and one of the angles at the base .

Watch Video Solution

= 60∘

17. Construct a triangle ABC having :

, BC = 5 cm and 

.

Watch Video Solution

∠B = 30∘

AB − CA = 2.5cm

https://dl.doubtnut.com/l/_BLIKUbfyW54v
https://dl.doubtnut.com/l/_HdNEBCs6imEW


18. Construct a triangle ABC having :

, BC = 5 cm and 

.

Watch Video Solution

∠B = 30∘

AB − CA = 2.5cm

19. Construct a triangle ABC whose perimeter

is 8 cm and the base angles are  and .

Watch Video Solution

45∘ 60∘

https://dl.doubtnut.com/l/_NJJqvQ3iKvds
https://dl.doubtnut.com/l/_34Mb7wqb6hck


20. Construct a triangle with perimeter 12 cm

and ratio of the sides , what type of

triangle is this ?

Watch Video Solution

3: 4: 5

21. Construct a right triangle when one side is

3.5 cm and sum of other side and hypotenuse

5.5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_VboGHdnQwR37
https://dl.doubtnut.com/l/_LMiSfQ1rFk5U
https://dl.doubtnut.com/l/_3ws9bZ4vM7Nl


22. Construct a triangle ABC where BC = 6.5 cm,

CA + AB = 10 cm and .

Watch Video Solution

∠B = 60∘

23. Construct a  in which base BC = 4.6

cm,  and AB + CA = 8.2 cm.

Watch Video Solution

ΔABC

∠B = 45∘

https://dl.doubtnut.com/l/_3ws9bZ4vM7Nl
https://dl.doubtnut.com/l/_KXPk2lKNmosO


24. Construct a triangle ABC with perimeter 10

cm and each base angle is of .

Watch Video Solution

45∘

25. Construct a triangle in which one base

angle is  and side opposite to it is 1.7 cm

and sum of other two sides is 4.5 cm.

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_ZVDtW8eHFcfH
https://dl.doubtnut.com/l/_rafak6MRGBPp


26. Construct a triangle with base of length 7.5

cm, the difference of the other two sides 2.5

cm and one base angle of .

Watch Video Solution

45∘

27. Construct an equilateral triangle with

perimeter 14.5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_hppoNKKxOCWK
https://dl.doubtnut.com/l/_pDjNmiFCi0ML


28. In a pair of set-squares the order is with

angles :

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

30∘ , 60∘ , 90∘

30∘ , 30∘ , 45∘

75∘ , 25∘ , 80∘

65∘ , 15∘ , 100∘

https://dl.doubtnut.com/l/_J8vFbtuUdeQN
https://dl.doubtnut.com/l/_q4kil9JhDpxq


29. In a pair of set-squares the order is with

angles :

A. 

B. 

C. 

D. None.

Answer:

Watch Video Solution

45∘ , 45∘ , 90∘

30∘ , 50∘ , 100∘

60∘ , 60∘ , 60∘

https://dl.doubtnut.com/l/_q4kil9JhDpxq


30. To draw the perpendicular bisector of line

segment AB, we open the compass

A. More then 

B. Less then 

C. Equal to AB

D. None.

Answer:

Watch Video Solution

AB
1

2

AB
1

2

https://dl.doubtnut.com/l/_ap41D27YcWuv
https://dl.doubtnut.com/l/_BREZ1K30sD4C


31. To construct an angle of  we

A. bisect an angle of 

B. bisect an angle of 

C. bisect an angle of 

D. None.

Answer:

Watch Video Solution

22
1∘

2

60∘

30∘

45∘

https://dl.doubtnut.com/l/_BREZ1K30sD4C


32. To construct a triangle we must know at

least its ……….. parts .

A. Two

B. One

C. Three

D. Five.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_U9EXzHTXewwt
https://dl.doubtnut.com/l/_CDwfEp9cLWTA


33. For which of the following condition the

construction of a triangle is not possible :

A. If two sides and angle included
between

them is not given

B. If two sides and included angle
between

them is given

C. If its three sides are given

D. If two angles and side between
 them is

given.

Answer:

https://dl.doubtnut.com/l/_CDwfEp9cLWTA


Watch Video Solution

34. Construction of a triangle is not possible if

:

A. 

B. 

C. 

D. .

Answer:

AB + AC < BC

AB + AC = BC

(A) and (B) ⊥ h

AB + AC > BC

https://dl.doubtnut.com/l/_CDwfEp9cLWTA
https://dl.doubtnut.com/l/_qe7fC90TAsI3


Watch Video Solution

35. With the help of ruler and compass it is

not possible to construct an angle of :

A. 

B. 

C. 

D. .

Answer:

Watch Video Solution

37.5∘

40∘

22.5∘

67.5∘

https://dl.doubtnut.com/l/_qe7fC90TAsI3
https://dl.doubtnut.com/l/_Lr5mK2X781w7


https://dl.doubtnut.com/l/_Lr5mK2X781w7

